A SAIRH D
B TATHA o ADIEAE BEEHRELTSHL/NHLTA)
X

SR SAITHAAIE =8 (e ®2l)
2A -3 - S2A(3A) - MISAY - BLES Ofl uFoH J & A Hns2

AITHA D 58,048,674 54,245,587 3,803,087

= 8,000,000 6,000,000 2,000,000

z 44,548,000 43,128,000 1,420,000

< 5,500,674 5,117,587 383,087

)EMIH*CH, U AQIEAEl SHSHZELXSNLY/XALTA| 58,022,600 54,220,600 3,802,000

=] 8,000,000 6,000,000 2,000,000

= 44,548,000 43,128,000 1,420,000

< 5,474,600 5,092,600 382,000

CAITHAU ALY =& 48,669,600 47,107,600 1,562,000

= 43,548,000 42,128,000 1,420,000

< 5,121,600 4,979,600 142,000

SATHAAIH (Z=HXIXLE)(2D) 3,542,000 1,980,000 1,562,000

Fay 3,220,000 1,800,000 1,420,000

< 322,000 180,000 142,000

403 XIXISHHISXH201™ 3,542,000 1,980,000 1,562,000

z 3,220,000 1,800,000 1,420,000

< 322,000 180,000 142,000

01 XIXISHHI X=X 3,542,000 1,980,000 1,562,000

OZAITHAHAI (=X XIEE) 3,542,000 1,980,000 1,562,000

= 3,220,000 1,800,000 1,420,000

< 322,000 180,000 142,000

LRATH ANEAE X4 9,353,000 7,113,000 2,240,000

= 8,000,000 6,000,000 2,000,000

= 1,000,000 1,000,000 0

< 353,000 113,000 240,000

AQIEAIEl #RIXI(Z1) 8,240,000 6,000,000 2,240,000

= 8,000,000 6,000,000 2,000,000

< 240,000 0 240,000

403 XIS SKH=0| ™ 8,240,000 6,000,000 2,240,000

= 8,000,000 6,000,000 2,000,000

(= 240,000 0 240,000

01 XIXISHHIXFE B X 8,240,000 6,000,000 2,240,000

OADIEAIEl #RIXI(SX) 2,240,000 0 2,240,000

= 2,000,000 0 2,000,000

< 240,000 0 240,000

HRES (AT (O1EHDIIEL 1,087 0 1,087

=PSNES 1,087 0 1,087

CAHMES 2 NEXZ Bt 1,087 0 1,087

802 Bter=0|E 1,087 0 1,087

01 T NEX3EHE= 1,087 0 1,087

©'1948 AHIDTHAMAIY 1,087 0 1,087
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